Embedded Systems / Model-Based Design

Written exam – February 10, 2014
Q1.

Given the autogenerated code in the attached listing.
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Q1a. Reverse engineer it to derive the state machine that was used to generate it 
Q1b. Write a test with guaranteed state and transition coverage for it
Q3.

Write a state machine B that refines A (and demonstrate that B is a refinement).
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Q3.

Write a TLC block that generates code for the custom block SensorXX according to the following specification:
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The sensor reads two double precision values x,y that are coordinates on a plane.

At initialization time, the sensor must be initialized by calling

InitializeSensor2D(x_range, y_range);

Providing the maximum range on the X and Y axis.

At runtime, the sensor must call the API function

ReadSensor2D(&x, &y);

With the addresses of two variables of type value that will contain the values.
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